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ECONOMICS

( Honours Core )

Paper : ECO-HC-6016

( Indian Economy—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
e 2MeAed T

fa) Mention one objective of Indian
monetary policy.

S[qeq YIS b1 Sy SCEy 7 |

(b) What is the difference between repo rate
and bank rate of RBI?

sy Red @@ @ @6 9F @ THW
e e 2
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(2)

(c) State one important instrument of
Indian fiscal policy.

SRS AR Afod b1 awgey fa SEd
sl

(d) Write one main feature of India’s trade
policy.

e e T «@b1 o1 CafiEs

(e) What is minimum support price in
Indian agriculture?

e $RA s W 7 2

(N What is mechanisation of Indian
agriculture?

SReE FRY AR 2

(g) Give the meaning of ‘industrial
diversification’.

g Cabarea’s =gl fap |

(h) State one reason of sickness of public
sector industries of India.

SEed el 489 SR FTSH 96l FRT IS
%40 |
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(3)

What is foreign portfolio investment?
e ‘cenbezfers’ Rfveans & 2

Name the largest service sector in India.

SO J28 CTAIRGR 1 &7 |

2. Answer the following questions : 2x5=10
et frEl eppTRd Ted fir

(a)

(b)

()

(@)

(e)
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Distinguish between revenue deficit and
fiscal deficit.

&2 916 SF IrecRY QB wA1el ey 44 |

Mention two important defects of
agricultural marketing of India.

ST R TR Bl Gy @l Seary 791 |

Write two positive effects of demone-
tisation in the Indian economy.

SReE ST RgEReeR 1 e e
fera |

What is import substitution?

SR TR &9

Give the meaning of ‘service sector’.

‘o’ we |
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(4)

3. Answer any four from the following
questions : 5x4=20

were il eeRd R et SRR Tes i

(a) Explain any five instruments of
monetary policy in India.

Sed @] R @ Sfiebr sifden e
0

(b) Distinguish between micro, small-scale
and medium industries of India.

ST W, AY WF TG S| w12z Fefa
0 |

(c) Point out five main defects of Indian tax
system.

Wwwﬁmﬁwﬁmgﬁqﬁﬁml

(d) Discuss the various shortcomings of the
fiscal policy of India,

WWW@?{%%WW

(e) Outline the agrarian structure of India.
SRST TS AMFR @ R Seeesyre 2w47 |
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() Discuss the role of service sector in
Indian economy.
SHeE JAAfes CAYd BT SIC0-1 T4 |
4. Answer the following questions : 10x4=40
weTe fgl eRprRd e il -

(a) Examine the statement that “In recent
years there has been a shift in the
emphasis from land reforms to
technological reforms in India”. 10
SR AR TN @ TS e SeH
<R @y S AT [ AR FAFHA
FEEee (TR |

Or / 41
Discuss the problems and remedies of
micro industries of India. 5+5=10
S TG SCOPHR TRl WI® WIS
ToRPTR. SCEDAT 41
(b) Discuss the trade and investment policy
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reforms introduced in India during post-
1990’s. 5+5=10

Sypo TIY [ES SROS RS €l AMfAe) S
et TS FZ[ TS HCATGT 47 |

( Turn Over )



()
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Or / 541
Discuss the role of foreign direct
investment in Indian economy. 10
sRen weAfos dors (Uit Riaer she
ECEmAT 41 |

Give an outline of the various defects of
macro-economic policies of India. 10

sRed SRR ST qor Risn ooz
GRS SRS 1 |

Or / J2=1

Explain the problems of public sector
industries faced in India during post-

globalisation period. Give your
suggestions to remove such problems.
6+4=10

SATE (TR RS e sieq
Tl 49 SEIEPTE TR

T TN SR OTPIER W R
R SISO | A e o

Examine the performance of o
sector of India during post-199¢7g 10

S5d0 B NSS! RS
SR CHEINed
T {0 9 |
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Or / 9=
Discuss the major challenges facing
Indian agriculture in recent times. 10
Hreoifss TS SR I TR @El T4
AONRITR Sl 94T |
* * *
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